YMHO)XeHue HaTypasbHbIX

! YUCEIJI.

Llenb ypoka:

NnpoBepUTb HaBblKM YMHOXXEHMUS
HaTypaJibHbIX YMCENT U ero CBOMCTB Npw
BbINOJIHEHUM 3ajJaHUM.



[lpoBEpPKa AOMaALLHEro

* 3a/aHus:

. N2 443.

. a) 56 - 24 = 1344,

. 6) 37 85 = 3145,

. B) 235 - 48 =11 280,
. 1) 37129 =4773.




* N° 419(6)

« 1 penc-25 T rpysa,
« CKONbKO 3a K penucoB?
« PelueHue.

25 K
Ecaimk =10, 10 2510 = 250 (T7)-
rpy3a aBToMallvMHa nepeBe3éT 3a 10 pencos.

ecqimK=D5,1T025"5 =125 (T)- rpy=a
aBTOMALLMHA NepeBe3ET 3a 5 pencos.
OtBet: 250 T,125T.



* YCTHblE ynpa)KHEHUS:

« Pelinte ypaBHEeHMUA.
« 31—x=13,

= Y—68 = 29,

« 76 + X = 83,

« 25y = 100,

= a:9=11.

« OTBeTb Ha BOMNPOCHI.




i 3a/laHne Ha YpOK:

« N2 398,
= N2 400,
= N2 408,
« N2410(a)
= N2 402,




* 3agaHne Ha I0M:

= N9 440,

=« N2 443 ( 3 n 4 ctonbuk),
« N9433 (B,r),

« [1OBTOpUTL BCe NpaBuna




